
CS 342: Bioinformatics 
Additive Phylogeny Spring 2020 

Practice problem. Add the appropriate weights to the given Phylogenetic t ree T for the additive distance 
matrix D . 

A B C D E 
A 0 11 10 9 15 
B - 0 3 12 18 
C - - 0 11 17 
D - - - 0 8 
E - - - - 0 

HC"C- 1'.l..,~~b,)~ E -+ ~ . ~~ c...-....-. 
9o.r~" "{. . 

c\ A~ = \ ld Di~ ~ clA-t> ~- of.or;) -:. ~ 

cl~)(-=- "i (d~L + de,1.:> - d or:) -- \.\ 

a c.."-=- \_ ( de.~ .... de.~ - d I:)~) -- \D 

, 
A B c.. )( 

A- 0 \\ lO 8-' 

f> - 0 3 \( 

C. - - 0 lu 

;>(. - - - 0 

' 
µ n d "-.Q..i t)"°' 'o.Jorl ~ _. C. • l4 ?t l c.. \l'f'A l"r\.h-

()Cl.,("'{"',\, ~ . 

dAd-:. i ( clA& .. cll\t - de,t, J ~ C, 

°t 

A ~ ')C 

A 0 4 ~ 

~ - 0 " )G - (::-i -
'Y\ 1' ~ ~1:i~ I\ ~ 'f-; . ~ 
~ ~UJ"{M- "b· . 

T 

I I t )C 

~ 0 L/ 

X., I - i) 



{ "type": "Document", "isBackSide": false }

